10
) ‘g

® -2 2agt @) 2t

6| 6

2l=2=12
o3

10/ 10

—|==—=333
®‘3 3
®0

@ -2 o gage 2 =25 Ik

® 59] Adigk2 50|t}
watA 71 2 = 5]t




RS, b ke $1Aske 4

i
mlo
4
|
-
Sy
2
e

® -7 (@)—1 ® +7 @ +4 ® -5

Aol et Be o5 gk kA 7P 7k S 3ishe
= -1 °|th

ofo) ® @ ©

11—
b)) 0 5




1 1
@ H_O.s,@) ‘—1‘2025,

®10.3] = 0.3, @ |-0.4| = 0.4, ® 0




o[ ool Solg 55U R5 5 A 249,

a+b<00°2axb>02 ™, al o, b Jooltt

it

v Vv v Vv
0
iy

0
i

B

axb>00°|E=,
a>0°]‘?‘i,b>0 ...... @
a<O°]‘?‘1,b<0 ...... @

oltf,a+b<0°|BE O 9 A= A9 Kol g3A] &
a<0,b<0




-

ull

A

-

ul

.

ul

.

ull

-

ul

_ o1
a 10
-2,-1,0,1, 2

27
10

. -2,-1,0,1, 2




6. #4199 4 A, B, C, D, E7H Rl 52 £4 g 527

1k

A B C D E
-4 -3 -2 -1 0 1 2 3 4

® A At YUEHUE = -3, B/ U E =350 22
Agighe e




T

)
<

ﬂo

o
oln

© Adigke]

gol 2 47} At}

(38

)

® 49 =71

T

<}

mJ

o

&

[

el

Nfo

<}

I

A T

CY

s wu

o

s

ol Ot

.AT ,.ZJ'

Eu . ﬂmo

T3
W —

R

o} o X

o o R

Aol A e Eoi

|
=
—

LS
7

Y TR




8. HHoRHE FHA B olZ=AYELA-B=10¢ 1, H
B °| tf-g-5t= F=2

o+ @5 04 @H  ©o0

F A 9o RH 22 Aol Qi A7t B Bt 10 ¥HE ¢
2




9. A x,yol st xy <0, x o Eoigh2 9,y o Aoigh2 4 o,
x+y o A9gks Fstof=t

> E.

> ®e: 5




10. A 3HEHGg7ESo]1BE1HG3Z2 Ay, = HA B
Oﬂfﬂ ze 7%E]°ﬂ %@% ofefj =24 of|A] ZFOH?
—3—2 —1 0 1 2 3
® -2 @ -1 ® 0 @)1 ® 2
A=-34+7=4,B=1-3=-2
TE1

4 &} -2 oA &2 A2 A=




